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g4+ (6-2)e3+14+2
5x+4y forx=3,y=6
X*—y*+2 forx=4,y=6
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(-2x + 3y) + (6x + 4y)

(-3x+4)—(2x + 2y)
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12x =36
18-x=12

27 =-13 + 10x
5x +3)=3(x-3)
X-2(x+6)=-2

6_30

9 X

Find the equation for the line containing
the pts (0,1) and (1,3)

Given adirect variationy is5 when x is 12,
findy when x is 36

Find the slope between pts. (5,3) and (3,4)

What is the slope of avertical line?
Horizonta line?

Graph on anumber linex < 3
Solve and graph: 3x —16>-14
Solve and graph: -3<2x+5<15
Solve (2 answers): x| =7
Solve (2 answers): [4x +4|=12
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Find the equation for the line containing
the pts (0,1) and (1,3)

Given adirect variation y is5 when x is 12,
find y when x is 36

Find the slope between pts. (5,3) and (3,4)

What is the slope of avertical line?
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Graph on anumber linex <3
Solve and graph: 3x —16>-14
Solveand graph: -3<2x+5<15
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